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QUESTION 1

Your company is a manufacturer and distributor of CTO type of products globally, and uses Global Order Promising to
promise its orders. You recently noticed that the promising results are determining the expected sources globally but not
the least-cost ones. You want to understand the logic used by the GOP engine to derive the least-cost source. 

Identify the four cost elements used by the cloud Global Order Promising engine to achieve the Profitableto-Promise
objective? (Choose four.) 

A. Cost of internal transfers between organizations 

B. Storage Cost (when the cost of holding that item in inventory is high) 

C. Overhead Cost 

D. Resource Consumption Cost (in case the end item is to be manufactured) 

E. Component Cost 

F. Standard Cost at internal organizations 

Correct Answer: ADEF 

 

 

QUESTION 2

Your customer is using Oracle Social Network for Order Management. They claim a conversation is being created for
every order in the system, and that this is not required for automated order fulfillment. 

What can be changed so that Oracle Social Network only creates conversations for sales orders that need them? 

A. When enabling the Sales Order object for Oracle Social Network use the manual mode. 

B. Disable the Sales Order object for Oracle Social Network. 

C. Turn off all conversations in Oracle Social Network. 

D. Remove access from users for certain orders that do not require conversations. 

E. When enabling the Sales Order object for Oracle Social Network, use the automatic mode. 

Correct Answer: A 

Create social conversations only for conversations that the Order Entry Specialist manually initiates for each sales
order. It is strongly recommended that you choose Manual. 

 

QUESTION 3

Which three predefined orchestration groups should you use while assigning an orchestration process to fulfillment lines
in process assignment rules? (Choose three.) 
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A. Standard 

B. Model / Kit 

C. Order Type 

D. Shipment Set 

E. Order Attribute 

Correct Answer: ABD 

 

 

QUESTION 4

Identify the task that the seeded Warehouse Operator role can perform. 

A. monitor and release sales orders for picking in the warehouse 

B. search for a pick slip and confirm it 

C. process and confirm outbound shipments 

D. generate outbound shipping documentation 

E. generate pick slips for picking material for outbound material movement 

Correct Answer: B 

The warehouse operator does the following work: 

Pick loads, including monitoring and performing the picking activity, and create pick slips for outbound 

shipments, replenishment, and requisition. 

Search for a pick slip and confirm the pick slip in a single action. 

 

QUESTION 5

Your customer requires changes be made to the Order Management work areas. The customer would like to rearrange
the tab layout and hide attributes. Which statement is true about this requirement and customizations that an
administrator will be able to make? 

A. An administrator can only hide attributes and cannot rearrange the tab layout. 

B. An administrator can rearrange the tab layout, hide attributes, and add custom components such as links. 

C. An administrator cannot customize anything within the Order Management work areas. 

D. An administrator can rearrange the tab layout, hide attributes, and change default widths of columns and panels. 

E. An administrator can only add content and rearrange the tab layout. They cannot hide attributes. 
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Correct Answer: E 
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